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B.Tech 2nd Semester Exam., 2016 (g) What is power alcohol?
ENGINEERING CHEMISTRY /(h) H-a;dness of water containing 1-62 mg
calcium  bicarbonate and 12 mg
Time : 3 hours Full Marks : 70 magnesium sulphate in 500 ml is
N —— P-pm. °CL. o
Instructions :

() Arrange in increasing order of freezing
o OF 01 M solution of glugose, calcium
t_:h’loride, sodium chloride and acetic

acid: o

() The marks are indicated in the right-hand margin.
" (i) Attempt FIVE questions in all.

fiv} Question No. 1 is compulsory.
Rl in the blanks/Answer the following
seven) : 2x7=14
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0) Why are brass vessels tinned?
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ess of water? How is it

“hL 0 ar el

L

 akubihar.com | (2

akubihar.com

nl .‘V\D.k_o .a,


http://www.akubihar.com/

(3)

3. (a) Describe Fisher-Tropsch method of
‘manufacture of gasoline.

{b) Define octane number and cetane
number. What are the structural
features of fuel that increases ocatane
oetane numbers?

(e Aooal sample contain 76% carbon, 10%
hywvsm, 8% oxygen and 6% nitrogen.

t um amount of O, and

air by weight for complete combustion of
l*‘ 1:kg of coal. Also calculate the weight of
wifZO%exoeesmrmsupplied (Air

(4)

5. (a) Differentiate between the following : 2x2=4

() Thermosetting and Thermoplastic
resins

(@ Graft copolymer and Block
copolymer

(b) Give the method of preparation and

uses (three) of the following : 10

() Nylon-6 from cyclohexanol
() Neoprene from acetylene

jl'_l m ABS polymer
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fc) At 100 °C, the vapour pressure of
solution of 6-2 gm of solute in 126 gm

water is 745 mm, What is the boiling
point of solution (K, =0-52)? 5

3Vaxg4=14
fa) Scale formation

(b) Caustic embrittlement
@ Priming and foaming

(d). Boiler corrosion

(79 Write short notes on the following :  3%x4=14




